CASBEE-ZE FE(HT58)20144E iR
BET /B F A B

I:l*fﬁt%ﬂﬁif:lx:l}yh’é%ﬁ]\

BMEAFEv=17IL:
| B2l

CASBEE-EZ £ (#715£)20144 ki
CASBEE-BD_NC_2014(v.1.23)

Za7v—hk KR E R
EYEik-HAHS EE-ERES
EEEER RIEEESHOBMELAMN SEE S : %g A : %g 2&
Q BEMorEaH 25
Q1 ERNEFE ] - 2.7
1 BRE 2.2 1.00 | 21
1.1 BF 3.0 0.40
1.2 EE 2.2 0.40
1 |FRAOEEE e 1.0 0.30
2 |REREEMRE 3.0 0.30
3 |REEESMHAEBREHER) 0.20
4 |REEESMHE(EEHER) 0.20
| | 1.3 ®&E 1.0 0.20
2 BRRIRE 2.4 1.00 | 25
2.1 ERHIHE 2.6 0.50
1 (=R 1.0 0.57
2 |ShRMEE 3.0 0.43
3 |V =V RIS V=R AR AR R T LDIRA 4.0 )
2.2 [REHIE 1.0 0.20
23 ZHAR 3.0 0.30
3 y-HRE 2.5 1.00 | 33
3.1 BAFA 2.4 0.30
[ESES EBHRS1.3% 2.0 0.60
2 |AuBIEO =
3 |[BAFIAHIE 3.0 0.40
32 JL7R% 2.0 0.30
[ 1 [B&m BEEA—TF+ETT LT EHIH 2.0 1.00
3.3 BE 3.0 0.15
3.4 FRBAHIfE BEEANYEATORBEAKIEHA AT EE 3.0 0.25
4 R 2.7 1.00 | 28
4.1 RERXE 3.0 0.63
1 |{eEEYE 3.0 1.00
3 20 ! 0.38
1 |Bs= 3.0 0.33
2 |BRBMIRMERE BE /15U L0 BRBSENER 0.33
3 |[BYANSATA~DEE 1.0 0.33
43 EREE 30 i -
[ 1 [co,n&ER
[ 2 [@EoHm 3.0
Q2 —ERMEE - - |27
1 BEEM 2.4 1.00 | 24
1.1 BEEEME - LTS 3.0 0.60
1 |[EE- LRk 1.00
2 |BEEREES =
3 [/\)TFTTY—EtE 3.0 2
1.2 IR -REH 1.0 | 030 20 | 040
1 |EER-R8 - 3.0 0.50
2 |[UILyLaRR—R = .
3 |NEAHE 1.0 1.00 1.0 0.50
1.3 #iFERE 3.0 0.30 2
1 |#EBEEICRELLEE 3.0 0.50
& BE 3.0 0.50
B 3.0 0.30 3.0
iR RE 3.0 0.50
[ 1 Tmiz 3.0 0.80
| 2 [#E-$iEMEE 3.0 0.20
2.2 &R - ERM DT A H 3.4 0.30
1 |SRERM B O A F 5 3.0 0.20
2 |NEHETFHOBIELERR 2.0 0.20
3 |[EEREHETFHOEHLEMR |BE:KE=JLK. BE=/0(PBt12.5) XHFE=-0(PBt9.5) 5.0 0.10
4 |ZRBEFLIEOEFLERR 3.0 0.10
5 |Z238- #AHIKERE O B H L ERHRR |#KVPB). #BEKVP(B)EKVPB), EIEFEA 5.0 0.20
6 |[FEFHERFOFHVLERR 3.0 0.20




2.4 (S5 2.8 0.20
1 |ZEER- Rk R 3.0 0.20
2 |#aHEK-BIAERE 2.0 0.20
3 |EBXE&E 3.0 0.20
4 |BW-EREXEAE 3.0 0.20
5 |@1E-1HREdE 3.0 0.20 =
3 @G- EErE 2.6 0.30 ] 1.00 | 26
3.1 ZEorLY 1.8 0.30 2.2 0.50
[ S0y 1.0 0.60 1.0 0.60
[ 2 [ZEomik-BEs B R R [FE0.28 3.0 0.40 40 0.40
3.2 REDOWLEY 3.0 0.30 3.0 0.50
3.3 HiRDEHE 3.0 0.40 s
1| ZRREDEHME 3.0 0.20
2 |#EEEKEDEHM 3.0 0.20
3 | BREROEHME 3.0 0.10
4 |BISEROEHM 3.0 0.10
5 |[ERiEHFOEHM 3.0 0.20
6 |/I\WITITAR—RDER 3.0 0.20
Q3 =4 IRET (B M) = 0.30 - - |21
1 EPBREOREERIH 2.0 0.30 2.0
2 FbLH-BRB~AORE 2.0 0.40 2.0
3 gt -FA=TI~DERE 2.5 0.30 25
[ 8.1 gt~ DEE. BEEDmLE 2.0 0.50
3.2 B REIRE DR E 3.0 0.50
R EXYoiREaRERM 0
LRI TRILF— = 0.40 - 4 - |32
1 B ROBAFH BPIm=0.74 4.0 0.20 4.0
2 BRIRLX—FIHA 3.0 0.10 3.0
3 BiE AT LOEZEL BEI IEEE 092 EEEFEEH) — 3.0 0.50 3.0
[ £S5 EEUS D EFM(3a.3b) 3.0 1.00
S EEEDHEGC) -
4 $HEMEH 3.0 0.20 3.0
£ SEEUS O FHE 3.0 1.00
=T 3.0 0.50
| 42 [EREEKS 3.0 0.50
SEEEDHE -
IEEE=TPZI
| 42 [ERAEEKE .
LR2 &iR-?TVFIL _ 0.30 - [ 28
1 KERREHE 3.4 0.20 3.4
1.1 &ik BEKIRICINA . BiKEEROERA 4.0 0.40
1.2 FKFIA-#BKEDFA 3.0 0.60
1 |MAKAACRATLEADEE 3.0 0.70
2 |HHKENRACATLEAOEE 3.0 0.30
2 EREMEROMEAREIRE 2.6 0.60 2.6
2.1 MEHERE DHIR 2.0 0.10
2.2 BHEEEFAZOREER 3.0 0.20
2.3 FAERMBICHEFDIHIIILHDER |- 3.0 0.20
2.4 BEMHLUSNZBTR)HAILHOER |- 1.0 0.20
25 EHERI AR MO SEH SN =AM 2.0 0.10
26 ZHOBHATEEALAOIEA |BR+ESK+EEHOTT—ILERA 4.0 0.20
3 EFPHEEEMEOERER 3.0 0.20 3.0
3.1 FEVEEZEFLLMHOGER 3.0 0.30
3.2 7Oy -/\ar @ EE 3.0 0.70
RS - -
P EE G E)) 3.0 0.50
3 |miE 3.0 0.50
LR3 Biith 5} 3R i% - 0.30 - | - 1]s0
1 HERRRIEADER SATH AL CO2E LT =93% 3.2 0.33 3.2
2 g~ OB K 2.8 0.33 2.8
2.1 KRFERLE 3.0 0.25
2.2 BREEELOHE 3.0 0.50
2.3 g2 75 ~DEHINH 25 0.25
1 |MKEEKEEER 3.0 0.25
2 B A T 3.0 0.25
3 |RBEFEHNG] 3.0 0.25
| 4 |BREYNESFHNG] 1.0 0.25
3 BB~ DEE 3.0 0.33 3.0
3.1 BE-RE-EROLE 3.0 0.40
1 [BE 3.0 1.00
P - -
3 |E - -
3.2 RE. WE. HREZ QM 3.0 0.40
1 |REQHH 3.0 0.70
2 |[RPEEDG -
3 |HERREE M 3.0 0.30
3.3 XEDHIH| 3.0 0.20
[ 1 [ermszvERRBOSSH=RAEE~ONE 3.0 0.70
| 2 [Brommrmcrammt L) ~orE 3.0 0.30




